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M.Com. (Semester-II) Examination, 2015

APPLIED ECONOMICS

Advanced Economics Analysis-II

Time Allowed : Three Hours ] [ Maximum Marks  70

Note : Answer five questions in all. Question No.

1 is compulsory. Attempt four more

question selecting one question from each

unit. Marks are indicated against questions.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb. 1 DeefveJeeÙe& nw~
ØelÙeskeâ FkeâeF& mes Skeâ ØeMve Ûegveles ngS, Ûeej DevÙe ØeMve
keâerefpeS~ ØeMveeW kesâ Debkeâ efveefo&° nQ~

Solve / Answer in brief the following: 3×10

1. (i) How is supply curve derived from mar-

ginal cost curve?

meerceevle ueeiele Je›eâ mes hetefle& Je›eâ keâer JÙeglheefòe kewâmes nesleer

nw?

(ii) In a market demand and supply quantities

at various prices are given as follows :

Skeâ yeepeej mes efJeefYeVe cetuÙeeW hej ceeBie SJeb hetefle& keâer

(8)
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efJeMues<eCe keâerefpeÙes? Ûewcyejefueve keâe cee@[ue yesnlej keäÙeeW mecePee

peelee nw?

7. What is rent? Explain in detail the Ricardian

theory of rent. 10

ueieeve keäÙee nw? efJemleej mes efjkeâe[ex keâe ueieeve efmeæevle mecePeeFÙes~

Unit-IV

FkeâeF&-IV

8. Explain the IS-LM theory of interest determi-

nation. 10

yÙeepe efveOee&jCe kesâ IS-LM efmeæevle keâes mecePeeFÙes~

9. What is Welfare Economics? Explain Pigou’s

concept of welfare. How can social welfare be

maximized? 10

keâuÙeeCekeâejer DeLe&MeeŒe keäÙee nw? heeriet keâer keâuÙeeCe DeJeOeejCee

keâes mecePeeFÙes~ meeceeefpekeâ keâuÙeeCe kewâmes DeefOekeâlece efkeâÙee pee

mekeâlee nw?



cee$eeÙeW efvecve nw :

Price Quantity Quantity

cetuÙe supplied demanded

hetefle& keâer cee$ee ceeBie keâer cee$ee

10 60 20

9 55 25

8 50 30

7 45 35

6 40 40

5 35 45

4 30 50

(a) What is the equilibrium price and

quantity in the market.

yeepeej ceW meecÙe cetuÙe SJeb cee$ee keäÙee nw?

(b) If sales tax of Rs. 4 is imposed by

the government, what shall be new

price and quantity and how much are

buyers and sellers affected?

Deiej mejkeâej Éeje ®. 4 keâe efye›eâer keâj ueieeÙee

peeÙes lees veÙee cetuÙe SJeb cee$ee keäÙee neWies SJeb ›esâlee

Deewj efJe›esâlee efkeâme Øekeâej ØeYeeefJele neWies?

(2) (7)
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tion is TC=100+2.5Q + 0.25Q2. Find

Deiej Skeâ DeuheeefOekeâejer Deheves Glheeo keâe cetuÙe efiejelee nw lees

Gmekeâe ceeBie Je›eâ nw Q=25–P Deiej Jen cetuÙe Je=efæ keâe

efveMÛeÙe keâjlee nw lees ceeBie Je›eâ Q=40–2P yeve peelee nw~ Heâce&

keâe kegâue ueeiele Heâueve nw TC=100+2.5Q + 0.25Q2

%eele keâerefpeÙes~ 10

(a) equilibrium price and quantity

meecÙe cetuÙe SJeb cee$ee

(b) Whether this equilibrium is stable and within

which range the (MC) can fluctuate with-

out disturbing the current equilibrium.

keäÙee Ùen meecÙe efmLej nw leLee meerceevle ueeiele (MC)

efkeâme meercee kesâ yeerÛe Ieš-yeÌ{ mekeâlee nw efyevee Jele&ceeve

meecÙe keâes yeoueles ngS~

Unit-III

 FkeâeF&-III

6. Make a comparative analysis of Cournot's and

Chamberlin's duopoly models? Why is the lat-

ter model considered to be better? 10

ketâveex SJeb Ûewcyejefueve kesâ ÉÙeeefOekeâej cee@[ue keâe legueveelcekeâ



Unit-I

 FkeâeF&-I

2. What are the main characteristics of perfect

competition and how is equilibrium determined

under this market form? 10

hetCe& ØeefleÙeesefielee kesâ ØecegKe ue#eCe keäÙee nw leLee Fme yeepeej kesâ

Devleie&le meecÙe efveOee&jCe kewâmes neslee nw?

3. In a monopoly market following demand con-

ditions exist : 10

Skeâ SkeâeefOekeâejer yeepeej ceW efvecve ceeBie keâer oMeeSB nw :

Price Quantity Demanded

10 3

9 6

8 9

7 12

6 15

5 18

4 21

If the fixed cost is Rs. 12 and marginal cost is

Rs. 6 Constant, find

Deiej efmLej ueeiele 12 ®. nw SJeb meerceevle ueeiele 6 ®. efmLej

nw lees %eele keâerefpeÙes~

(4) (5)
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(ix)

from the diagram given above answer

following questions :

Thej efoÙes ieÙes efÛe$e kesâ DeeOeej hej efvecve ØeMveeW kesâ Gòej

oerefpeÙes :

(a) What are curves 1 and 2?

Je›eâ 1 Deewj 2 keäÙee nQ?

(b) What are triangles REP and PET?

ef$ekeâesCe REP SJeb PET keäÙee nw?

(c) What market form is this?

Ùen efkeâme Øekeâej keâe yeepeej nw?

(x) What is Kaldor-Hicks compensation prin-

ciple?

kewâue[esj-efnkeäme #eeflehetefle& efmeæevle keäÙee nw?

Q

Price

R

PTO2E1

Quantity



(a) Present equilibrium of the monopo-

list and his profit.

SkeâeefOekeâejer keâe Jele&ceeve meblegueve SJeb Gmekeâe ueeYe~

(b) If he is able to have price discrimina-

tion and is to able to charge Rs. 9

from some consumers and current

price from the rest, what is the gain

to him?

Deiej Jen cetuÙe efJeYesoerkeâjCe keâj mekeâlee nw SJeb kegâÚ

GheYeesòeâeDeeW mes 9 ®. leLee DevÙe mes Jele&ceeve cetuÙe

ues ueslee nw lees Gmekeâes keäÙee ueeYe nw?

Unit-II

FkeâeF&-II

4. What is product differentiation and what is its

importance in monopolistic competition mar-

ket? 10

Jemleg efJeYeso mes leelheÙe& keäÙee nw leLee SkeâeefOekeâejer ØeefleÙeesefielee

yeepeej ceW Fmekeâe keäÙee cenlJe nw?

5. An oligopolist faces the demand curve Q=25–

P if it decreases the price of its product. If it

decides to increase the price, demand curve

becomes Q= 40–2P. The firms total cost func-
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(6) (3)

(iii) Why will the equilibrium of a monopolist

occur at a point in demand curve where

the elasticity is greater than one?

SkeâeefOekeâejer keâe meblegueve ceeBie Je›eâ kesâ Gme efyevog hej keäÙeeW

nesiee peneB ceeBie keâer ueesÛe 1 mes pÙeeoe nw?

(iv) What is meant by Barometric price lead-

ership?

yewjesefceefš^keâ cetuÙe vesle=lJe mes keäÙee leelheÙe& nw?

(v) Distinguish between insurable and unin-

surable risks.

yeercee ÙeesiÙe SJeb yeercee DeÙeesiÙe peesefKece ceW Yeso keâerefpeÙes~

(vi) What is the difference between ‘value of

Marginal Product’ and ‘Marginal Revenue

Product’?

’meerceevle Glheeokeâlee kesâ cetuÙe’ SJeb ’meerceevle Deeiece

Glheeokeâlee’ kesâ yeerÛe keäÙee efYeVelee nw?

(vii) What is an Edgeworth contract curve?

SpeJeLe& keâe mebefJeoe Je›eâ keäÙee nw?

(viii) What is meant by quasi-rent?

DeeYeeme ueieeve mes keäÙee leelheÙe& nw?


